
Economics 302
Intermediate Macroeconomic 

Theory and Policy
(Spring 2006)

Lecture 2
Monday, Jan. 23 2006



Outline

• National Income and Product Accounts
• National Savings Identity
• Employment, Unemployment



Accounting

C + I  + G + X ≡ Y

Sp ≡ (Y + V + F + Q – T) – C

Where (.) is disp. inc; Sg = (T – F – Q) – G

Y+ V ≡ C + Sp + (T – F – Q) 



National Income Accounting











The National Savings Identity
C + I  + G + X ≡ Y

Y + V ≡ C + Sp + (T – F – Q)

C + I  + G + X + V ≡ C + Sp + (T – F – Q)

X + V ≡ (Sp – I) + (T – F – Q) – G 
Sg



The US Example



Unemployment 

U ≡ (L-N)/L

L is the labor force, as measured by 
statisticians at Bureau of Labor Statistics

N is employment, measured by BLS

So U is an unemployment rate in %





Caveats

• The rate will be affected by both changes 
in L and N

• The unemployment rate since the last 
recession has declined

• But the rate of job creation has been 
unnaturally slow



Employment

• There are two 
sources:

• Household based 
(relies on estimates of 
total US population)

• Establishment based 
(relies on firm survey)

• Latter more reliable
http://www.clevelandfed.org/Research

/Com2004/05-15.pdf



Participation Rate

• But L has also 
declined.

• Demographics, but 
also opportunities (so 
L is endogenous)

Source:  
http://www.frbatlanta.org/filelegacy
docs/HOTCHKISS-final.pdf



Alternative Measure of 
Unemployment

• Adjustment to 
account for 
discouraged 
workers

• Results in 
somewhat higher U





Okun’s Law

(Y-Y*)/Y* = -3×(U-U*)

• Unemployment moves in opposite 
direction to output gap.

• When U=U*, Y=Y*




